
��������	��

�����������������������������
��������
�	��� 
�!"� #$


%����'&)(�(�&+*,&�(�(�-.%/ &)(0&�1�2,
0�3���4�45�!6������
87�9�;: ��<4����=9�>�3�)�3� ��
 / ��=9�����3���'?

@BADC'EGF�HJILKNM	OQPRMQM�PTS�UTU9S
V'W4XZY[\[Q]�['^�_ Y[,` X [ W4a [9b�cRd
[ W4X ["e

f$g hji\k
lnmpoqmrits�k
uvs�hquwk4x�y+zws�mri{m�xtoqmritoq|}s�hq~�mr��x�i�mri�x�zv��x�m0y+ojzwx���f�mri�x�y+|�zvitm0�}m�y+s�zws�mriti\|n��xzw�qoQ�m���m0�qoqk
��x�i����	|�hqi�oqm0��mr��y+m0�qojy�m�s�m�i�hr�\m0x�k���mrs���|�x�y+m�s�|��Zzwmn���	|�i�yq�m���|��qi�mri�oj|nz��nmr��x�m0x�y+mQ�\hqi�x\z��T�m0mri����TmLi\h0�\m0xRmri�x�y+m0s�x�|��3�nm�y+i\|��	f�m��qk
y0�mr~�m�mri�x�oq|n�j�Q�m��k�x�z�x�y+mLzw�qojzvs�k4x\zw���

 ¢¡¤£}¥�¦¨§�¦�£{© ª3«8¬�­�®v¯¨°�±+²
/ ���³��´L� �Tµ���
�!6�3� ��
��¶��"·�

� �	�4�	¸Z¹��
�)
��¤¸B<����

´Zº�»j¼�½�¼3¾r¿ÁÀ�»nÂ�ÃÄ?+»�½TÅ ?Æ�Ç ¾ ¹
È �3��5
�����¶� ���%<n��� 
0���$!��)
��
� �
�)���'7� ����3����=9� 

��=T5
=É�4�'´L�3��5��%�>�R!"��
���������
0����»�Ã�½�ÃÊ¾9Ë�?4Ì
 ¢¡¤£}¥�¦¨§�¦�£{©4© ª3«8¬�­�®v¯¨°�±+²
/ ���³��ÍGÀÏÎrº�»¨Ð+¼3½0Ð"¿"¼�º�» Â ¼3½ Â ¿"¼�Ñ�Ñ�Ñ"¼\º�»�Ò}¼�½�Ò
¿6Ó$5

R
r5��)Ô��%�
�¤ÕD<n��� 
0���Ö�}75�Õ�×Ä-��\�Ø�Á5�
R��
0�3� ���\ÌÖÙ�
9�35
<
<n���3�Ú 5
�	� ������Ûn!����>�����\�¤����
����
��54Ü�7�R�4��5
Ü¢�4�>�Ø����
�!6�3�\��Ì / ���³��ÝD�"��Þ��
��54Ü¢�
������>�%�"�ß´�à\á â%�>��µ���
�!"�3� ��
L�¶���·�

� �'��5��¸Ï<��)�ß´ à\á â ºw»n¿%ÀÏÝ�Ã�Þ�»�ã�Ì È ����5������$ÝD�"��Þ�<n��5�� Ú 5
�T´ à\á â �)<
<
����Ü4��=9�'��5¢=9� ��54Üä� �'
r5��)Ô����
�'<�����
0����Í�)5ä�3��
��¤�4�\�¤=9��� 
��4�����¤!��)���
��\��år!): ������*"7�+*,�4� �3�ß=9��
���=9�>�3��
��Òæ ç

è Ð º;´ à\á â º�» ç ¿ZÅ�½ ç ¿ Â

 ¢¡¤£}¥�¦¨§�¦�£{©4©4© ª�éê¬�­�®v¯¨°�±+²
Ù�
�!"��
��3� �¨7�����¶�>�ßµ���
�!6�3� ��
ë´¢�4��
0�����\��!���5
��Û��\�Á�4�$
��������)5��3��
0���4��


%������Á��5R�4�����45���5)ìØ�"��ÌÖ���$Ô������4� ��
0����
ºØí�î�í�¿%���������3� ��
0�
��	�������$� �'ï���54�������������$�>���4�������3��Ì��}�����3�����>�$Ô�����<
ï
�\�¤�3��<
�
����3��
0�3��
0�$���\�$= ���=9�\��!"��5
��Û��\��4�	

� ���\�)5}Ì
ð �ñÈ ����5
�����'Ô�����<
ï
� Ú 5���=9��
0�'� �ë��5ê� ���T=9��
���=T5
=�ºw��¿'�4�ä´Ä�3��5��'�>�L!"��
���������
0���R»LÅÊ½ÊÀòí�Ì�2,
��
� Ú 5
��ó�����3���������<���
������35
�¤���	Ô�����<
ï
���45äï��)5
�
ô �ñÈ ����5
������Ô�����<
ï
� Ú 5
��=9��
0�ß���T��5L� ���ß=9��
���=T5
=�ºw��¿��4�R´8�3��5���� �D!"��
���������
0���'» Â ÃÄ½ Â Àõí�Ì�2,
��
� Ú 5
��ó�����3���������<���
������35
�¤���	Ô�����<
ï
���45ä=9��� ����5}Ì
ö �ñÈ ����5
�����$Ô�����<
ï
� Ú 5���=9��
0��� �'��5÷���\�$=R�+Ü4� =Q5
=�ºw��¿$�
��´�����5��$�>��!���
0�3���)� 
0�3�'» Â ÃÄ½ Â Ëpí�Ì$2,
��
� Ú 5
��ó�����3���������<���
������35
�¤���	Ô�����<
ï
���45äÛ�����Ì



–2

–1

1

2

y

–2 –1 1 2

x

–2

–1

1

2

y

–2 –1 1 2

x

–2

–1

1

2

y

–2 –1 1 2

x


